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Emory & Henry College
Quantitative Literacy Assessment

* |f a classroom is filled with 16 males
and 5 females what is the
bercentage of females in the class?

* If 40% of a class failed the first test,
and 80 percent of those who passed
earned less than an A, what
percentage of the students earned
an A?




Billy Bob’s Burger Market offers a combo
containing a burger, fries, and large drink for
$5.15. However, you really don’t want the
fries. You would be better off

a. Purchasing the burger separately at $3.00
and the drink separately at $1.50.

b. Purchasing the combo anyway because it
is cheaper.

c. It does not matter because both options
are the same




You have just purchased a new home in a nice
neighborhood in which you hope home values will
appreciate. You know that you will be moving
back to your parent’s town to take over the family
business in 5 years.

a. You would be better off to purchase a 30-year
fixed-rate mortgage at 5% because rates have
never been so low and are expected to rise.

b. You would be better off purchasing an
adjustable-rate mortgage that is locked in at
4.5% for the first seven years.

c. You would be better off purchasing an
adjustable-rate mortgage at 4.4% that resets to
whatever the current market rate is in 2 years.







